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Mlefwed / SCIENCE

(5HD whmd phdle aifl / Tamil & English Versions)

Gib : 2% et | [ Qurss wHlQuamser : 75
Time Allowed : 242 Hours ] [Maximum Marks : 75

Sfeenr : (1) eoass ddamss@d silurs sss0 ullurdl o drasT créLIS@en
sflunrggss Qsrarereyd. sssuufaldn goplnmluda siwns
samsraniuurafiip e Langurs dgflaissayb,

2 feon ees sEUY svl¥os VLG aWsQsHGY.
24 ECasTyHausHGE LWaUBESs CauanBh. ULRSH ufusHE
GQuendle) LweaTLBSSMLD.
Instructions : (1) Check the question paper for fairness of printing. If there is any lack of
) fairness, inform the Hall Supervisor immediately.
(2) Use Black or Blue ink to write and underline and pencil to draw diagrams.

@A0y : Paelamssrer epeng Ifeyseners Qaram g
Note : This question paper contains three sections.
Sifley - 1 / SECTION - I
(oHOCueTEeT - 15) / (Marks : 15)
Gy : () Bufeie o drer 15 ellamasEréEd efien waflésayb. 15x1=15
() seoLlys gillgyer Gar@isuulfarar wrppy e sefid
Hseyhd sfurer o amwsd CorptsBsa eTpsayLb.

Note : (i) Answer all the 15 questions,
(ii) Choose the correct answer from the alternatives given in the brackets.
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1. Quiess Ceras CamiureL Qeuehudic Lsuir :
(srieey Lriaddr aflyCer-w-clfi, Afs Cgraer-QuarLd, g
LITLISHLG) SIDIMTE)
The theory of Natural Selection was proposed by ! N
(Charles Darwin, Hugo de Vries, Gregor Jobann Mendel, Jean Baptise Lamarck)

2. Qs GRENEEE WE (9EA® BaTREEILBH CprissHiiyd
(aumbeuf GurelGur, DPT, DFT whpd GurediGiur, BCG)
The first vaccine injected into a just born baby is :
(Oral Polio, DPT, DPT and Oral Polio, BCG)

3. g QLA Grissde sraruuldo @ud:un:sn @ragé arssmTien ame

(80 - 100 8.4, [ QLA 80 - 120 B8, [ QbR 80 - 150 B8 [ Qud
70 - 120 (5.4, | QuA.&l.)
Normal blood glucose level in 1 dl of blood is

(80 - 100 ma/cl, B0 - 120 mg/dl, 80 - 150 me/dl, 70 - 120 mg/di)
4 yseL srarmsad urdar QumEs apepule moL QU LPED M

(smeimsd, pawssd, BerBb e maursd, ws1HEFGE15605 )
In sexual reproduction of flowering plants, the first event involved in this is
(fertilization, germination, regeneration, pollination)

5. weligafien syrsfl e Qeuiufles .
(98.4 - 98.6°F, 96.6 - 96.8°F, 94.4 - U8.6°F, 984 - 99.6°F )
Normal body temperature of manis -

(98.4 - 9B.6°F, 96.6 - 968°F, 94.4 - 9B6°F, 98.4 - Y96°F )

6. maludr srpdldars saunspHand o @n ragl {
(@rés Sflon, eumads sblan, s, Siflgs o)
The product obtained in the anaerobic respiration of yeast is :
(Lactic acid, Pyruvic acid, Ethanal, Acetic acid)

7. s Caliudeamd rdmrEh AUImHEHEE eHEEEETH
(Qemevi s, srdzp, e udfl Gemreviy s, Capogdn Sumeriiune)
Example for product of green Chemistry is :

(plastic, paper, bioplastics, halogen flame retardants)
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Bupems aurycdd sreruuBib peanmwumar Aurmer

(r&Ggan, BsCpem LGITUCUen, G Grcr)
is the chief component of natural gas.
(Ethane, Methane, Propane, Butane)

&flu gafl o auglben ggansmu G aumoCurg), sigen urag Qsfaugen
sryambd gafiular
(Qrfiueliiume, Azpord)

When sunlight passes through the window of a classroom, its path is visible, This is
dueto _____ of light.

(reflection, scattering)

wefly GrsssHan (pH) whoy
(7.5, 5.5, 7.4, 6)

pH value of human blood is
(7.5, 5.5, 74, 6)

srguby wpmb upselin Vs wedu UkG wdigd gaflob
(Fe, Ca, Co, Mg)

An important constituent of bone and teeth is

(Fe, Ca, Co, Mg)

ansan GOBUSHG semar 1psd Camngflar IUPAC Quwit
(rgfan, rgengen)
[UPAC name of the first member of alkyne s __~ - :

(ethene, eth:vne)

yelltingrnda 50 £.4. flevpuerear wafisafldn eran
(50 N, 35 N, 380 N, 490 N)

The weight of a person is 50 kg. The weight of that person on the surface of the earth
will be

(50 N, 35 N, 380 N, 490 N}

[ &@0s / Tum over
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. Qupewss sfilusss galwgfen sigy eram
(82-g Bl siflamid, 82-g ol i GOnay. UMFUmISHLILIL afidane, GODHES 82)
The atomic number of natural radioactive element is
(greater than 82, less than 82, not defined, at least 82)

15. Hulle emansn LmUAUmESD +-;- aafld b5 ular ams

(B 2. Gl 2. swgar wyy)
The magnification produced by a mirror is +§. Then the mirror is a AR vy

(Concave mirror, Convex mirror, Plane mirror)

WSifley - 11/SECTION - It
(ofliQuamser : 40)/(Marks : 40)

®oly : aCsmib Bmug demés@ré@ i uaissa, 20x2=40
Note : Answer any twenty questions, .
16. urpbufiub sriss fo wpédlus Cemp@iliuser 4Gy QerPssnuLl Heraran.

Supper e fluaahans CorpOs®ia erupss.

) —— smefsdr Quii@uie snig uTToUiwse srrafser B ELD.

MW eenum gy Baftean LIHDIS Semenn @b

(e, wrgur@ser, ApHemongd, gher)

Here are certain important hereditary jargons, Fill in by choosing a suitable one from
the list given, ;

(allele, variation, speciation, gene)
® ________ are the factors which form the physical basis of inheritance.
(i) ___is the alternate forms of the same gene.

17. CurGern@Germand 0L Qungssedr STETDIED ETeMeN? iFEm Liien g ?
What are monoclonal antibodies ? Mention its use,
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18. Qurmigs.

Bl ghem - wrgur® selwng Ced @gon
£t . - 209f sefli@urdlsemer o meiris
e GREAGysar - Sadasar
w@QLbbse (woslsd) - eplygea flealudiss
‘Match the following :
Nif genes - Unspecialised mass of cells
tt - Biological computer manufacturing
Bio - Chips - Alleles
Stem Cells - Nitrogen fixation

19. HIV-gé sanflyb oiey whnd endiu@ssn SIS WiTene?
Name the tests done for the diagnosis and confirmation of AIDS,

20. &Cp QsrRaEsIUCPeer LLgms QepThg ASTHSSLLL QeTer Lrsiisemer
Copy the diagram and label the parts.

(S fered sp04, AmBran)
(Adrenal gland, Kidney)

[ B@mius / Tum over
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21,

22.

6

GarPésiucL. u jflom uarbs Lrstsomas @i,
Copy the diagram and label the parts.

(eflenzuienm, &(m)
(Seed coat, Embryo)

e.Ldllar wrav i Qelevl ey Apfrsnd smpssiu@dps, sryarod

saor_BE) s "

(1) 2Lelld QupliuBd Sevarss Cafll Gurplsen Apsrssde Bops
@uplu@denmer.

(@) Apfhran @réssdar Caf@auy sufaamut Cuandng.

(@) Spfrsn ordle Qupb soasy Caufll QurElsemeryb
GeauefiCupmdns.

(7) Agfrad eLda oy Cudl Aurplsoayd Calss eabss
Qarardmg.

The master chemists of our body are the Kidneys. Justify.

{a) Kidneys filter all chemicals in the body,

(b) Kidneys maintain the chemical composition of blood.

(¢) Kidneys eliminate all chemicals absorbed by the body.

(d) Kidneys store the chemicals accumulated in the body .

Qrsd eopsdd ukg Qupb Gardwr LGIT wdsda, Brés SIS
wireney?

Name the protein and the blood cells responsible for the clotting of blood.
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. 24 papsod SLussTy arsdugdd e Geapsmar Smsses.

walls Gewsdlar smp sOHUGD foass @ruaGLrd aanw effiub
Powss ewGrd srammub Gluwir:
Correct the statements if they are wrong,

In the human heart, the contraction of the cardiac muscles is calied diastole and the
relaxation of the cardiac muscles is called systole.

Qar@asou_{erer __'. DU eren LLgengs saiallss.

(1) LD A, B - srew L Fussiismas GHOAGS.
() ey @aieluibsiisdr Ggm Lo Agyiidl @aasaldr
| Busssfieioss CoanuOdpg?

Observe the diagram.

{a) Mention the type of movements shown in figure A and B.

(b) How does this movement differ from the movement of mimosa ?

3

26. ETES@TE SOTED KLOSATWNE WINSDS.

(=) Copacim_ Gewalle apsmen Hapss poLQupdng?

"@)?W mergpulf rHUGEDE?

Sugar is converted into alcohol.

{a) In the above reaction what kind of process takes place ?
(b) Wluchm.lc:o organism 15 involved 7

[ &miys / Turn over
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() A Ben Quuwirae
(<) A We alfhwns sLpsILHO QuTqRETSST wireneu?

(@) B uler aufurs sL_psuBD QurgeTaeT wrea?

Name the types of vascular tissues in the p!amsbemed\amlabelled Aand B.
(a) Name A and B.

(b) What materials are transported through A ?

(c) What materials are transported through B ?

B
CamnglL @-Hob Broys.
() S anmise sarfsgdian Curgl ——— QesafledLuu®Ens?
(<2t) @i gefullen wenaflenand® FrauThIEeTIS pmnﬁ&&ﬂu@tﬁ Quirmer
B0
(smirGuT anaol Gri. sriuen-eL-8@80)

Fill in the blanks :

(a) Animals give out through respiration.

(b) In the presence of sunlight plants prepare - <
(Carbohydrate, carbon-di-oxide)
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QAsrBSsILI Berer UL feng 2 InCrrsd, erps supnd e maurisUuRApg
STUmBE Seatt (G Ssey o, ULsdle Qar@ssiud Gerar LIS By & aifl )
enauGugib @ren® Unsismend GlEs.

(Blensanp, Blensewgeans SlarGearmmb SLOUURES. gluupsdi, Cpir
BlenGarm_t @M Betnaenin, BlenEe sieniolin)

Observe the picture given below and find out what type of energy is produced. Label
any two parts of the diagram from the given list.

(battery, battery charger controller, solar incidence, D.C, load, battery system)

O

W

L,

(e

Qurmpsrens Bas.

(<s1) 2u9 Sydagnrd). Lses e, 209 g, Qui Crreflwib.
() sreym, e umnig, Qemfifiyriis, S5CL8.

Find the odd one out ;

(a) Bio - alcohal, green diesel, bio - ethers, petroleum.

(8)  Cholera, typhoid, scabies, dysentery.

[ &®Uys / Tum over
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33.

34.

35.

10

wrdlydrar H@moul Gup @waib, A®oul Aup Guars sueriisaer
WPODUTSHL QU mEss.

uanisar A B o

Smoud Aumid eiemisdr &) AnHE Qui e

Ambut Qup Buwns aermissr aan_ygea| Gupas amny | @My gofl subpe
Match the suituble renewable and non - renewable SOUrces ;

Sotirces A B C
Renewable Coal Wind Petroleum
Non-Renewable Hydrogen Natural gas Solar energy

Ggefl i semregsEn, OsdlLrs sMTEPIEGL adren Caupur@smarns
&Gy Car@astiud Gerar BHlliusa apeib ST(PEIS. (25°C-ab)

(<) 16 & NaCl 100 4. £flé

(<) 36 & NaCl 100 &.5f0

(@HUY - NaCl-en sengdmer 36 &)

Distinguish between the saturated and unsaturated solution at a temperature of 25°C,
using the data given below. (Note : Solubility of NaCl is 36 g)

(a) 16 g NaCl in 100 g water

{b) 36 g NaCl in 100 g water

(81) @i Lremtisefld smrsstLBL aimy TE?

(%) scvauruellan sany Apenan Psfas Briser ererer Qaleiisd?
{a) Which gas is dissolved in soft drinks ?

(b)  What will you do to increase the solubility of this gas ?

deraimamgs Srmba sag. 5 Corbvsdr B (Sfdr ppassn Meom 18 4)
How many grams are there in 5 moles of water (Note : Molecular mass of water is 18 g)

PO sopsdar dangrménsl swuaflfidar Qsdlay 1.0%10-5 M aefie SiZarn
pH wAlliL ereren?

The hydroxide ion concentration of a solution is 1.0%x10~% M. What is the pH of the
solution ?
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36. saupTar Sapapd sl Cails.

37.

(=) snflosder pH whuy 7- dl oflsnrs QuiEn.

(1) sMDD Si@Ldsuc L uramiisdfleo 2l gs snflon v Rsos.
Identify the wrong statements and correct them.

(a) The pH of acid is greater than 7.

(b) Acetic acid is used in aerated drinks.

e pHOuSHsSe® . EmBpd urgdlyhsdr gnbewu@ss UL cidmea

crafled U&ens Flns Ligeud Carenmdlpg.
SNTenTD © @pstugnsipsres sryanid smrs smily sriuCGen.
(1) 2 @HOUBEEE® sryamd GreaBi> &f
() 2 pfliupsgmss &f sryamd ofl Qoo
Assertion : A greenish layer appears on copper vessels, if left uncleaned.
Reason It is due to the forml_fioﬁ of a layer of basic copper carbonate.
Give the correct option :
(a) Assertion and reason are correct and relevant to each other,
(b) Assertion is true but reason 15 not relevant to the assertion.

Xerenp Qaueref] Curany Qauarann B 2 Corsb o sallgedar Gaips Y-85 .

Mg @pﬁ Y eremp Geiwwrang X-foreflydr sfevaryfiuye Curg
cngot_g'ggmm Qeuafiil’ Ré e ddips). X wHmb Y @& s,

X is a silvery white metal. X reacts with axygen to form Y, The same compound is
obtained from the metal on reaction with steam with the liberation of hydrogen gas.
Identify X and Y-

e pfluBSgse eveufid eramug sriueflar sigemoren LpGeubgiento
QgD SLED.

SATEID © evaugsBgietear sriuer prevapd] augeutd eoenl g,
GlarpasuuT Berer o pflUuBSESEGE sTramd sHwurs o drersr?

Asserlion : Diamond is the hardest crystalline form of carbon.
Reason : Carbon atoms in diamond are tetrahedral in nature.
Verify the suitability of the reason to the given assertion mentioned above.

[ Q@Ou& / Tumover
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40.

41,

42.

12

Spssramb sapysalld saupsdr @middar Hmsze.

(=) 9@ B’ Lean sl eranugy e dymb Beopuidrer Qumgefid 1 ms™2
yhésgas gHuUBssb damsuldar semmas GilEEw.

(<2) sSevamuid, erdlit eflevamyd sriGLmgID §Cr Quirmaiar 185 ruBUPLD.

Correct the mistakes, if any, in the following statements.

(a) One newton is the force that produces an acceleration of 1 ms =2 in an object of
1 gram mass.

(b)  Action and reaction always act on the same body.

gammi (A) v - Qo parasafid, yellblar sugld Si@wssliucL spd
aLmsafid Aravrssouct  gafifl  arysser
CsaflsatuBdaman.

smesd (R) :  Syeuwréstiud L gafifl aumyssdr Spen Sanraass
shafemen.

(<=4) A paupreng R sflwireng).

(<) A sflwreng, R geumrengy.

(&) AR @ran@n sapreng.

(w) Asfiureng R Ap aduynsisdng.

Assertion (A) : Liquefied cryogenic gases are sprayed on electric cables in big cities.
Reason (R) : Liquefied cryogenic gases prevent wastage of power.

(a) A is incorrect and R is correct.

(b) A is correct and R is incorrect.

(c) Both A and R are incorrect.

(d) Aiscorrect and R supports A,

Qunmsgs.

() Slenseald - —{—
(=24) Bt aflarécs - —ANAA—
(&) Ben e e b
() oredl () sellis (@poug) - — 3=
Match the following :

(a) An electric cell - —(e—
{(b) Electric bulb - —AAA—
(c} Resstance - ()

(d) Plug key (or) Switch (closed) ERRSRE. - = 2
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CaroLr Basoser uLb E6p QarsstulBarag. UTSRISMETE
@PlEsaw.
Voltaic cell diagram is given below. Draw and label the parts.

G Ban eSlarss 220 V Banafuniliyer Gearssuc Beragl. BlanGeanm_L1b
050 A eraflcy, Slen eflenadlan Hpen Wrg?

An electric bulb is connected to a 220 V generator. The current is 0.50 A, What is the
poter of the bulb ?

Curé@ursss s-RUUTLD claré@aaila _ fp dflené&Eo

LRSS ILRSET STTTD HASN siam@ferd,

(@Y : efden Azpa Sieraurans) Swafasdar pranog s sdipssdin

edtang)) :

In traffic signals _____ colour light is used to stop vehicles because it has
wavelength,

(Hint : Scattering of light is inversely proportional to the fourth power of its wavelength) .

SeoL L@ eerer i Qampseoas GsTan(d Ll Ui Hlyouys.

Ligyeien Guflwr Sidun

Gemypib e.erar auamgudien Gpyren DLID

(@eflumg, sweaTsé @GeOUrg., GELTG. SO5T i3 GG, Gtwens)
Fill the table with the appropriate words given in bracket-

the tooth's enlarged image

S . R rear side of the vehicle erect image

(Convex mirror, Plano convex, Concave mirror, Plane mirror, Convex lens, Concave
lens)

[ Hmlys / Turn over
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47. Sgperer ULgH s &ps owd arpsl UosHdar Hasmus sfwrss
C ETLGEps?

Which of the compass needle orientations in the foﬂuwing diagram correctly describes
the magnet’s field at the point.

& &
N—s®

&
d

Sfley - 111/SECTION - Il
(wfliQuenaer : 20)/ (Marks : 20) 2
efiuy : ()  afarmusHlddmiss e sl et muen@ eilenrés@ie

aflenwiafigmayb, Ax5=20

(i) Cseowrer @ isafle ULkisdr aenrs.
Note : () Answer any four questions by choosing one question from each part.
(i) Draw diagrams wherever necessary,
UGSl - 1/Part - 1
18. () Gphs GYBEEHE WE® WY OTERSEEGH wipkis Caiarmew Gonis
BBUYSA sl Lamanan s
(<) @558 SOULAsT wow ciAsss Comismens 5054 Bugin?
{a) Suggest the immunization schedule for the new born baby, in the first six months.
(b)  What are the diseases that can be cured as per the schedule ?

49. proy Qeddiar s@wvyous Osafieurar ULBGLa urakisemds Ghlss
eBlemé .

Describe the structure of a neuron with the help of a neat, labelled diagram.,
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u@Sl - 1/Part - 11

Qodsdons srar ol smolou Geafss.
Describe the structure of a dicot seed.

sflenw erfidiuganmd ghuBn Sow uwsgn audsaen’ uligudd(s.
List out the harmful effects of burning coal.

u@$ - 11/ Part - 111
Gereumb sigpsaatien Guored aamafismsanus &m&ﬁ@a.;.

(=) 2 8. evplymen ()23 8. Gamguid
(@) 40 4. srddlunbd (/) 144 algdlun
(2.) 32 8. saour

Find how many moles of atoms are there in :

(a) 2 gof nitrogen ’ (b) 23 g of sodium
(c) 40 g of calcium (d) . 1.4 g of Lithium
() 32 g of sulphur

GH0, erémp apadsam aumnioum s Garam_ sflus Caiwn A Gsmguibd
au sriuGen’ sersgiLear marssu Qurigson Hapiadlng. A-en
Camguid e lienu Cemoné setremmbyLen Coiga @mOuUBEEID Gurg apadsmm
Hlenp 16 Qanarm_ sewCaar Ly allasamws eribs e Caiowrer eaan CGrn
srruen ‘B evws smdlpg. A B -gs san_fla. vaganmdldirig ‘A’ e
ereueumm swinfludrser.

Organic compound ‘A" of molecular formula C,H,0, gives brisk effervescence with
sodium-bicarbonate solution. Sodium salt of A on treatment with soda lime gives a

hydrocarbon "B’ of molecular mass 16. It belongs to the first member of the alkane
family. What are ‘A’ and “B’ and how will you prepafe *A’ from ethanal ?

[ &aviins / Turn over
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54.

55.

16
u@$ - 1IV/Part - IV

spdiymuaiien srsamensda gGaaud mbdlenen sms.
Write any five achievements of Chandravaan.

sanr Hdsmssane LOHBHE Flud GopurioLF &fl Jslugpars

ufipgierssiuc L. Spearsear apeapGu :

IUESE san - -35D @LOLESE sar @ —4.00 D eraflé)

(B1) Sjauit erducuenssd GEODURLLTE LTASSILLHarami?

(<25) Gupsan Qaassdr ewLssld Qudkdimasior sidagy oleflibysafid
QB msEwn?

(8) @m Qeassla abs Gowaflar Gallwgmbd S&n?

The optical prescription of a pair of spectacle is !

Righteye: =35D  Lefteye: —400D

(a) Name the defect of the eye.

(b) Are these lenses thinner at the middle or at the edges ?

(c) Which lens has a greater focal length ?

-olo-
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